SECTION A (1 mark/correct answer)

Question Answer

1 Why was the Nemean Lion so hard to kill? Impenetrable skin

2 Who helped Heracles defeat the Hydra? loulus (his cousin)

3 Whose Golden Hind did Heracles capture? Artemis

4 How did Heracles defeat the giant boar? Wore it out in deep snow

5 How did Heracles clean the stables? Redirected rivers

6 Which god makes a rattle to help Heracles Hephaestus
defeat the bird?

7 How does Heracles get the Cretan Bull back to He rode it across the sea!
Greece?

8 How does Heracles calm down Diomede’s Feeds them Diomedes
mares?

9 Whose belt does Heracles claim? Hippolyte

10 What is special (or weird) about Geryon? He has three bodies

11 Who guards the golden apples? The Hesperides/dragon

12 What is the name of Hades’ pet dog? Cerberus

SECTION B (12 marks)
For this question, use the following best fit from the table below.

Level

Descriptor

Marks

1

Describes a basic opinion about the most impressive labour. 1-3

May not name any specifically. Does not compare labours.

Low quality of English — SpaG (Spelling, punctuation and

grammar)

Describes their own view on the most impressive labour but may | 4-6

not compare them with much detail.

Fair SPaG - some mistakes. May not be structured very clearly.

Gives a balanced argument featuring at least three labours. 7-9

Comes to a clear conclusion.

Good SPaG with some errors but a good structure.

Detailed arguments about the impressive nature of at least three

labours.
Comes to a clear, justified conclusion.

Excellent SPaG - few errors and good structure.

10-12




When you have found a mark out of 24, use this grid to show what grade you have
achieved:

Marks Grade
10 or less 2
11-14 3
15 4c
16 4a
17 5c
18 5b
19 ba
20 6¢c
21 6b
22 6a
23 7c
24 7b




